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Class - IX
MATHEMATICS

Time : 3 to 3Y2 hours Maximum Marks :
YT : 39 31, T Afreram o :

Total No. of Pages :
% J3] hl A :

General Instructions :

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section - A comprises of 10 questions of 1 mark each, Section - B comprises of 8 questions of
2 marks each, Section - C comprises of 10 questions of 3 marks each and Section - D comprises
of 6 questions of 4 marks each.

Question numbers 1 to 10 in Section - A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice has been provided in 1 question of two
marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.

An additional 15 minutes time has been allotted to read this question paper only.
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SECTION - A

Question numbers 1 to 10 carry 1 mark each.

Which of the following is cubic polynomial
(A) x3+3x2—4x+3 (B) x2+4x—7
(C) 3x2+4 (D) 3(x2+x+1)

The degree of the polynomial p(x)=3 is :
(A) 3 B) 1 S o

For the given triangle PQR, which of the following is true ? Fig. 1.

125°0\%

Q
100°

Fig. 1

(A) PQ=QR (B) PQ>QR (C) PQ<QR (D) £P=2Q

In APQR PQ=QR and £ZR=50° then £Q is equal to :
(A) 90° (B) 80° (C) 65°
In fig. 2 ABJ||CD and t is transversal, the value of x is equal to :

t

A\ ;

(2x +40)°
(x +90)°
~* \ >

Fig. 2

(A) 50°
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How many number of lines does pass through two distinct points.
(A) 1 (B) 2 © 3 (D) 4
In fig. 3 if AB=AC find x.

A

X

B
Fig. 3

(A) 55° (B) 110° (C) 50°
Which of the following is an example of a geometrical line.

(A) Black Board (B)  Sheet of paper
(C) Meeting place of two walls (D) Tip of the sharp pencil

p

+ form of the number 0.3 is :

1
2

1
© 3 (D)

The product of Quotient of a non-zero rational number with an irrational number is :
(A) Irrational number (B) Rational number
(C) Whole number (D) Natural number

SECTION - B

Question numbers 11 to 18 carry 2 marks each.

1 4
Find 4 rational numbers between 5 and g

Find the value of x if 24x 25 =(23),
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Factori 2 4 X 1
actorise . —_— = .
4 8

What value of x would make XOY a line if £XOZ=7x+20° and £YOZ=3x in fig. 4.
Z

7x+20 3x

O
Fig. 4
In fig. 5, O is the mid point of AB and CD prove that AC=BD.

A
D

Fig. 5

In AABC, if ZA=50°and £ B=60° determine the shortest and the longest side of the triangle.

In which quadrants do the given points lie ?

@ @-1) ® 17 (© (=2 -3 d &3

ABC is an isosceles triangle with AB=AC. Draw AP 1 BC. Show that £B= Z£C.
OR
In fig. 6, find x.
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SECTION - C
Question numbers 19 to 28 carry 3 marks each.

Show that :
(xa—b)a+b_ (xb—C)b-H:_ (xc—a)c-i-a =1

54 3
f 55 =a+ b3 find rational numbers a and b.

OR
Simplify : 12./18 — 620 — 350 + 845

3
If x =./3 — 2 find the value of (x + lj
X

OR

1

If x =2+ /5 find the value of [xz — —Zj
X

Evaluate using suitable identity : (999)3
OR
Factorise : 27a3+8b®+54a%b + 36ab?

The polynomials kx3+3x2—8 and 3x3—5x +k are divided by x+2. If the remainder in each
case is the same, find the value of k.

In fig. 7, triangle AOB with co-ordinates of A and O as (4, 0) and (0, 0). AB=5. Find the
co-ordinates of B.

Y
A

B
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In fig. 8 TQ, TR are the bisectors of £Q and £R respectively. £QPR=80° £PRT=30°
determine ZTQR and ZQTR.

P

Fig. 8

If AABC is an isosceles triangle with AB=AC. Prove that the perpendiculars BD and CE
from the vertices B and C to their opposite sides are equal.

In fig. 9, I||m £1and £2 are in the ratio 5: 4. Find £3 and Z£4.

Fig.9

A garden is in the shape of a quadrilateral. The sides of the garden are 9m, 40m, 28 m and
15 m respectively in consecutive order and the angle between first two sides is a right angle.
Find the area of the garden.

SECTION - D

Question numbers 29 to 34 carry 4 marks each.

Factorise : x°—3x2—10x +24

Simplify : (5a+3b)> — (5a—3b)3

OR

Find the value of ‘a’ if (x—a) is a factor of x> —a?x3+2x+a+3, hence factorise x> —2ax —3.
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If x—2y=11 and xy=8 find the value of x>—8°.
OR
If x+2y=8 and xy=6. find the value of x>+ 81°.

If the bisectors of angles Z ABC and ZACB of a triangle ABC meet at a point O then

LBOC=90+%AA

Prove that the two triangles are congruent if any two angles and the included side of one
triangle is equal to any two angles and the included side of the other triangle.

In AABC, ZC=90° M is the mid point of (fig. 10). AB as well as CD. Show that
(i) AAMC=ABMD

(i) Z£DBC=90°

(i) ADBC=AACB

D A

Figure 10
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U9 WEAT 1 9 10 9% Uk T 1 3k AT gl

1 & B 9 = %1 9gue B
(A) x3+3x2—4x+3 (B) x2+4x-7
(C) 3x2+4 (D) 3(x2+x+1)

a@qﬁp(x)=3aﬁ€|1ﬁ(ﬂ;@1)%?
(A) 3 (B) 1 © o

3mpfa - 1§ T f1YS PQR B 1 197 & 901 %oF ¥ 21

() PQ>QR () PQ<QR

APQR # PQ=QR 3R L R=50°T9 £ Q T | BN :
(A) 90° (B) 80° (C) 65°

T - 2 H, AB||CD 3R t T fades W@ g1 x &1 74 & :
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(A) 557 (B)
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TUEE HIT 27+ —%

x 1 98 UM I ST difer XOY Tk T@l o1 I | Ife £ XOZ =7x +20° 3R £ YOZ =3x
TTefd 4 # Twrran 7o € |
Z

7x+20 3y

3
T >

Y

)
TP - 4

aTpfa - 5, fag O Y@rde AB 9 CD &1 7e fag &1 fag +0 AC=BD.

A
D

B
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s ABCH afg £ A=50° 3R £ B=60°, A= %! T Bt U5 Fod IS ST 1 Y |

e foreg o fobt Tl W fere ¥
@ @-1) 6 (-17) © (-2 -3) d) @ 5)

A ABC T% HHfgarg 1y« € fS/9H AB=AC. ABLBC @f=11 fag #ift «B= 2£C.
arerar

3T - 6§ x 1 A 1A RIS
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G x—2y=11 3R xy=8 T x> — 8> H WA A HifT |
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i) AAMC=ABMD

(i) ZDBC=90°

(i) ADBC=AACB

D A
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